Format for Advertisement in Website

Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Arunachal Pradesh State, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime	nsion (in M.)/Area o	f the site (in Sq. M.). *		arranged by the licant	Mode of Selection	Fixed Fee / Minimum Bid	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	amount 11	12
			Regular / Rural	MS+HSD in KLs	SC CC 1 SC CP H ST FT CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
1	WITHIN 2 KMS FROM KM STONE 99 TOWARDS BOMDILA ON NH-13	WEST KAMENG	REGULAR	168	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
2	ON NH-13, WITHIN 3 KMS FROM INTERSECTION WITH NH- 515 TOWARDS PANGIN	EAST SIANG	REGULAR	204	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
3	BETWEEN KM STONE 418 AND KM STONE 420 ON NH-13	PAPUMPARE	REGULAR	170	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
4	BETWEEN GOVT. MIDDLE SCHOOL NAFRA AND CIRCUIT HOUSE NAFRA ON NAFRA TOWN MAIN ROAD	WEST KAMENG	REGULAR	170	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
5	ON NH-515, FROM PASIGHAT POLICE STATION TO JAWAHARLAL NEHRU COLLEGE WELCOME GATE	EAST SIANG	REGULAR	314	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
6	BETWEEN KM STONE 472 TO KM STONE 475 ON NH-13	PAPUMPARE	REGULAR	170	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
7	ON NH-13, WITHIN 10 KMS FROM INTERSECTION WITH NH - 313 TOWARDS TEZU	LOWER	REGULAR	323	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
8	WITHIN TAWANG TOWNSHIP AREA ON GIANT BUDDHA STATUE TO TAWANG MONASTERY ROAD VIA CHRISTIAN	TAWANG	REGULAR	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
9	REVIVAL CHURCH ON NH-15, Within 4 KM from Arunachal University of	NAMSAI	REGULAR	250	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	Studies towards Tezu On NH-713, FROM PALIN RIVER BRIDGE TO SUB-STATION PALIN	KRA DAADI	REGULAR	240	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
11	PALIN ON NH-515, FROM JAWAHARLAL NEHRU COLLEGE WELCOME GATE IN PASIGHAT TOWN TO INTERSECTION WITH NH-13	EAST SIANG	REGULAR	296	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
12	ON NH-13, BETWEEN HAPOLI DANI KUNIYA HIGH SECONDARY SCHOOL GATE AND ZIRO VALLEY SCHOOL	LOWER SUBANSIRI	REGULAR	240	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
13	ON NH-13, WITHIN 4 KMS FROM INTERSECTION WITH LIKABALI-BASAR-BAME ROAD	LEPARADA	REGULAR	234	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
14	ON NH-713, FROM KM STONE NUMBER 25 TO KM STONE NUMBER 31	LOWER SUBANSIRI	REGULAR	240	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
15	ON NH-13,Within 5 KM to 10 KM from the Office of Deputy Commissioner Lohit, towards Roing	LOHIT	REGULAR	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
16	WITHIN 2 KMS FROM GOVERNMENT UPPER PRIMARY SCHOOL, RUNNE, ON RIGHT HAND SIDE TOWARDS TAKI LALUNG, ON PASIGHAT-TAKI LALUNG-MIREM ROAD,NOT ON NH/SH	EAST SIANG	REGULAR	162	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
17	On NH-215, Within 5 KM from Intersection of Jagun-Miao Road and NH-215(Kharsang Charali) towards Manmao	CHANGLANG	REGULAR	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
18	ON NH-713, FROM KM STONE NUMBER 34 TO KM STONE NUMBER 36	KRA DAADI	REGULAR	240	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
19	ON NH-13, WITHIN 10 KM FROM NH INTERSECTION WITH POTIN-KIMIN ROAD TOWARDS ZIRO	LOWER SUBANSIRI	REGULAR	240	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
-	ON NH-215, Between Manmao and Changlang Namsai Town within Urban/Municipal Limts, Not on	CHANGLANG	REGULAR	156 180	ST OPEN	CFS	25	25	625	0	0	Draw of Lots	0	3
21	NH/SH ON NH-713, WITHIN 3 KM FROM ZIRO POINT	NAMSAI	REGULAR			DC	25	25	625	32	55	Draw of Lots	15	5
22	(INTERSECTION OF NH-713 AND PALIN-NYAPIN ROAD) ON NH-15, Within 4 KM to 7KM from Dirak Gate Namsai	KUMEY	REGULAR	240	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
23	towards Tezu On NH-315, Within 4 KM from Vivekananda Kendra	NAMSAI	REGULAR	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
24	Vidyalaya, Jairampur towards Manmow	CHANGLANG	REGULAR	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
25	WITHIN ROING TOWN URBAN/MUNICIPAL LIMITS NOT ON NH/SH	DIBANG VALLEY	REGULAR	160	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
26	PASIGHAT WITHIN URBAN/MUNICIPAL LIMITS, WITHIN 3 KMS FROM APST BUS STATION TOWARDS NORTH EASTERN INSTITUTE OF AYURVEDA & FOLK MEDICINE RESEARCH, NOT ON NH/SH	EAST SIANG	REGULAR	114	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
27	ON NH-515, FROM KM STONES 27 TO 29	EAST SIANG	REGULAR	207	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
28	ON NH-13, Within 5km from Intersection of NH-13 and Alubari Bridge Road	LOHIT	REGULAR	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
29	ON NH-313, WITHIN 4 KMS FROM INTERSECTION WITH NH-13 TOWARDS MAYUDIA	DIBANG VALLEY	REGULAR	270	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
30	ON BOLENG-RUMGONG ROAD VIA ADDITIONAL DEPUTY COMMISSIONER OFFICE, BOLENG,WITHIN 2 KMS FROM INTERSECTION WITH PANGIN-BOLENG-DITTE DIMME ROAD, TOWARDS RUMGONG,NOT ON NH/SH	SIANG	REGULAR	116	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
31	ON NH-13,WITHIN 10 KMS FROM AALO POLICE STATION TOWARDS PATUM BRIDGE	WEST SIANG	REGULAR	215	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
32	ON NH-215, on Right Hand Side towards Gidding Between Chainage 6 KM to 9 KM	NAMSAI	REGULAR	230	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
33	ON NH-15, Within 2 km From Medo Police Outpost towards Wakro on Right Hand Side	LOHIT	REGULAR	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
34	ON NH-13, WITHIN 3 KMS FROM KORONU PRIMARY HEALTH CENTER TOWARDS TEZU	LOWER DIBANG VALLEY	REGULAR	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
35	PASIGHAT WITHIN URBAN/ MUNICIPAL LIMITS, NOT ON NH/ SH	EAST SIANG	REGULAR	114	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
36	WITHIN 2 KMS FROM CHIMPU-JOLLANG TINIALI ON LHS TOWARDS HOLLONGI ON NH-415 ON NH-713, WITHIN 4 KM FROM JORAM JUNCTION (NH-	PAPUMPARE LOWER	REGULAR	210	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
37	13 INTERSECTION) TOWARDS TALO	SUBANSIRI LOWER	REGULAR	240	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
40	ON NH-13, WITHIN 2 KMS FROM ORIGIN OF DIBANG RIVER BRIDGE IN BOMJIR TOWARDS DAMBUK	DIBANG VALLEY	REGULAR	321	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
41	WITHIN 3 KMS FROM NIRJULI POLICE STATION TOWARDS BANDERDEWA ON NH 415	PAPUMPARE	REGULAR	210	ST	CFS	30	30	900	0	0	Draw of Lots	0	3

				1			1	1		1				
42	ON NH-13, WITHIN 3 KMS FROM INTERSECTION WITH NH- 115 TOWARDS DAMBUK	LOWER DIBANG	REGULAR	293	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
45	ON NH-113, WITHIN 10KM FROM VIVEKANAND KENDRA	VALLEY ANJAW	REGULAR	180	OPEN	DC	25	25	625	32	95	Draw of Lots	15	5
46	VIDYALAYA, AMLIANG TOWARDS TEZU BETWEEN BANDERDEWA POLICE CHECKGATE TO FCI FSD	PAPUMPARE	REGULAR	230	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	GODOWN BANDERDEWA ON NH 415 BETWEEN YUPIA DC OFFICE TINIALI TO GOVERNMENT													
47	COLLEGE, DOIMUKH ON NH 713A ON NH-13. Within 5 KM from the Office of Deputy	PAPUMPARE	REGULAR	210	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
48	Commissioner Lohit towards Demwe	LOHIT	REGULAR	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
49	On NH-15, Within 3 KM from Drinking Water Project,Chongkham towards Namsai	NAMSAI	REGULAR	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
51	WITHIN LIKABALI TOWN URBAN/MUNICIPAL LIMITS, ON LEFT HAND SIDE OF AKAJAN-LIKABALI-BASAR ROAD, NOT	LOWER SIANG	REGULAR	191	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
52	ON NH/SH WITHIN 6 KMS FROM GOVERNMENT ITI DIRANG	WEST KAMENG	REGULAR	170	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	TOWARDS TAWANG ON NH-13 ON LEFT HAND SIDE OF AKAJAN-LIKABALI BASAR					-								
53	ROAD, WITHIN 10 KMS FROM LIKABALI CHECK GATE TOWARDS BASAR, NOT ON NH/SH	LOWER SIANG	REGULAR	190	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
54	WITHIN LIKABALI TOWN URBAN/MUNICIPAL LIMITS, ON RIGHT HAND SIDE OF AKAJAN-LIKABALI-BASAR ROAD,	LOWER SIANG	REGULAR	191	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
	NOT ON NH/SH WITHIN 5 KMS FROM RAJ BHAWAN ROAD TINIALI													
55	(MITHUN GATE AREA) ON LHS TOWARDS NAHARLAGUN ON NH-415	PAPUMPARE	REGULAR	170	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
56	Within Changlang Town Municipal/Urban Limit (Not on	CHANGLANG	REGULAR	100	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
57	NH/SH) BETWEEN KM STONE 321 TO KM STONE 323 ON NH 13	EAST KAMENG	REGULAR	170	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	Within Ziro Urban Jurisdiction, Not on NH/SH	LOWER	REGULAR	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
59	ON PWD ROAD, WITHIN 2 KM FROM NYAPIN POLICE	SUBANSIRI KURUNG	REGULAR	128	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	STATION,NYAPIN AALO TOWN WITHIN URBAN/MUNICIPAL LIMITS, ON	KUMEY												
60	ROAD CONNECTING KENDRIYA VIDYALAYA AND SAINT DE FRANCIS DE SALES (SFS) COLLEGE, NOT ON NH/ SH	WEST SIANG	REGULAR	138	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
61	WITHIN 2 KMS FROM SEDE BRIDGE TOWARDS SAGALEE	PAKKE KESANG	REGULAR	166	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
	ON NH-13 ON RIGHT HAND SIDE OF AKAJAN-LIKABALI BASAR											1	-	
62	ROAD, WITHIN 10 KMS FROM LIKABALI CHECK GATE TOWARDS BASAR, NOT ON NH/SH	LOWER SIANG	REGULAR	190	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	WITHIN 2 KMS FROM GOVERNMENT UPPER PRIMARY													
63	SCHOOL, TAKI LALUNG, ON RIGHT HAND SIDE TOWARDS MIREM, ON PASIGHAT-TAKI LALUNG-MIREM ROAD,NOT	EAST SIANG	REGULAR	162	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
64	ON NH/SH ON NH-15, Within 6 KM From Golden Pagaoda Temple	NAMSAI	REGULAR	250	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
65	towards Tezu WITHIN URBAN/MUNICIPAL LIMITS OF AALO, NOT ON	WEST SIANG	REGULAR	138	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
66	NH/ SH BANA VILLAGE WITHIN 6 KMS FROM BANA RCC BRIDGE	EAST KAMENG	REGULAR	150	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
	TOWARDS NECHIPU ON NH-13													3
67	BETWEEN KM STONE 143 AND KM STONE 146 ON NH-13 WITHIN YINGKIONG TOWN URBAN/MUNICIPAL LIMITS,	WEST KAMENG	REGULAR	170	ST	CFS	30	30	900	0	0	Draw of Lots	0	
69	NOT ON NH/ SH	UPPER SIANG	REGULAR	134	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
70	BETWEEN KM STONE 15 AND KM STONE 17 ON NH 713A BETWEEN TRIHMS HOSPITAL TO KANKARNALLAH BRIDGE	PAPUMPARE	REGULAR	320	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
71	NAHARLAGUN ON NH 415 WITHIN 2 KMS FROM DC OFFICE PAKKE KESANG	PAPUMPARE	REGULAR	190	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
72	TRIJUNCTION TOWARDS ITANAGAR ON NH-13(NEW)/NH- 229 (Old)	PAKKE KESANG	REGULAR	220	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
73	WITHIN 4 KMS FROM ARUNACHAL LAW COLLEGE, JOTE	PAPUMPARE	REGULAR	170	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
	TOWARDS ITANAGAR ON ITANAGAR-POMA-JOTE ROAD JIGAON ON ORANG-KALAKTANG-SHERGAON-RUPA-													
75	TENGA ROAD	WEST KAMENG	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	LEKHA VILLAGE ON DOIMUKH-LEKHA-KIMIN ROAD	PAPUMPARE	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
77	WITHIN 3 KMS FROM POMA BRIDGE TRI-JUNCTION TOWARDS ITANAGAR ON ITANAGAR-POMA-JOTE ROAD	PAPUMPARE	REGULAR	170	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
78	ON NH-115, WITHIN 10 KMS FROM INTERSECTION WITH	LOWER DIBANG	REGULAR	292	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	NH-13 TOWARDS SANTIPUR	VALLEY												
	WITHIN 2 KMS FROM VIVEKANANDA KENDRA VIDYALAYA IN BASAR TOWN, ON LEFT HAND SIDE OF AKAJAN-	LEPARADA	REGULAR	156	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	LIKABALI-BASAR-BAME ROAD, NOT ON NH/SH													
80	WITHIN 2 KMS FROM VIVEKANANDA KENDRA VIDYALAYA IN BASAR TOWN, ON RIGHT HAND SIDE OF AKAJAN-	LEPARADA	REGULAR	156	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
<u> </u>	LIKABALI-BASAR-BAME ROAD, NOT ON NH/SH	LOWER										-		
81	ON NH-115, WITHIN 10 KMS FROM ARUNACHAL PRADESH BORDER TOWARDS INTERSECTION WITH NH-13	DIBANG VALLEY	REGULAR	292	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
82	WITHIN 3 KMS FROM GACHHAM BRIDGE TOWARDS SHERGAON ON ORANG-KALAKTANG-SHERGAON-RUPA-	WEST KAMENG	REGULAR	116	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
	TENGA ROAD ON NH-515, WITHIN 5 KMS FROM STATE BORDER GATE IN													
83	RUKSIN TOWARDS PASIGHAT ON NH-13, WITHIN 10 KMS FROM TIRBIN POLICE STATION	EAST SIANG	REGULAR	274	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
84	TOWARDS BASAR WITHIN 3 KMS FROM BHALUKPONG POLICE CHECKGATE	LEPARADA	REGULAR	231	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
85	TOWARDS BOMDILA ON BALIPARA CHARDUAR TAWANG ROAD	WEST KAMENG	REGULAR	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
86	WITHIN DIRANG TOWN NOT ON NH-13	WEST KAMENG	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
87	ON NH-515, FROM PASIGHAT ENTRY CHECK GATE TO PASIGHAT POLICE STATION	EAST SIANG	REGULAR	207	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
88	On Jagun-Miao Road, Within 4 KM from Kharsang Police Station Towards Miao, not on NH/SH	CHANGLANG	RURAL	210	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
89	WITHIN GARU VILLAGE LIMITS, ON AKAJAN-LIKABALI- BASAR ROAD	LOWER SIANG	RURAL	138	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
90	WITHIN SIJI VILLAGE LIMITS, ON LEFT HAND SIDE OF	LOWER SIANG	RURAL	154	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
91	AKAJAN-LIKABALI-BASAR ROAD, NOT ON NH/SH WITHIN SIJI VILLAGE LIMITS, ON RIGHT HAND SIDE OF	LOWER SIANG	RURAL	154	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	AKAJAN-LIKABALI-BASAR ROAD, NOT ON NH/SH WITHIN RUMGONG VILLAGE LIMITS, NOT ON NH/SH			133	OPEN	DC	25	25	625	16	35		5	4
92	WITHIN 2 KM FROM PARO RIVER BRIDGE TOWARDS	SIANG	RURAL	133	ST	CFS	25	25		0	0	Draw of Lots	0	2
	KOLAPTUKAR AKA KALATUKUR ON PGSY ROAD	KAMLE	RURAL						625			Draw of Lots		
	WITHIN TIRBIN VILLAGE LIMITS, NOT ON NH/SH WITHIN 2 KM FROM KOLAPTUKAR AKA KALATUKUR	LEPARADA	RURAL	104	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
95	TOWARDS NHPC	KAMLE	RURAL	180	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
96	On Jagun-Miao Road ,Within 2 KM from Intersection of Jagun-Miao Road and NH-215 (Kharsang Charali) on Right	CHANGLANG	RURAL	160	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	Hand Side towards Miao	LOWER										-		
97	WITHIN KORONU VILLAGE LIMITS, NOT ON NH/SH	DIBANG VALLEY	RURAL	178	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	WITHIN MONIGONG VILLAGE LIMITS, NOT ON NH/ SH	SHI-YOMI	RURAL	112	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
	SIRO, WITHIN 2 KM FROM THE DISTRICT AH&VETY OFFICE TOWARDS PILLAR OF UNITY.	LOWER SUBANSIRI	RURAL	120	ST	CFS	25	25	625	0	0	Draw of Lots	0	2

						,								
100	WITHIN 4 KMS FROM DAMBUK POLICE STATION, NOT ON NH/SH	LOWER DIBANG VALLEY	RURAL	125	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
101	ON ROAD CONNECTING PATUM BRIDGE AND RUMGONG VILLAGE, WITHIN 4 KMS FROM PATUM BRIDGE TOWARDS	SIANG	RURAL	104	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
102	RUMGONG,NOT ON NH/SH WALONG VILLAGE, NOT ON NH/SH	ANJAW	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
103	WITHIN DIPA VILLAGE LIMITS NOT ON NH/SH	LOWER SIANG	RURAL	112	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
104	On Namsai-Diyun Road, Within 3 KM from Office of Piyong	NAMSAI	RURAL	110	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
105	Circle Officer towards Namsai On Bordumsa-Goju Road, Within 3km from office of ADC	CHANGLANG	RURAL	80	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
106	Bordumsa towards Goju (Not on NH/SH) WITHIN MAGI VILLAGE LIMITS NOT ON NH/SH	LOWER SIANG	RURAL	64	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	Within Hari Village limits, Not on NH/SH	LOWER	RURAL	66	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	WITHIN PANGIN VILLAGE LIMITS, NOT ON NH/ SH	SUBANSIRI SIANG	RURAL	72	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
109	WITHIN KAMBA VILLAGE LIMITS (ON AALO-KAMBA- MECHUKA ROAD), NOT ON NH/SH	WEST SIANG	RURAL	64	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
110	Between Longding and mintong on Longding-Longfong Road(Not on NH/SH)	LONGDING	RURAL	70	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
111	WITHIN 5 KMS FROM PAGLAM POST OFFICE, NOT ON NH/SH	LOWER DIBANG VALLEY	RURAL	70	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
112	Yachuli HQ Area, Not on NH/SH	LOWER	RURAL	60	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
113	Within Pangchao Village Limits (Not on NH/SH)	LONGDING	RURAL	60	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
114	On Namsai-Diyun Road, Within 2km From Public Health Centre,Innao, on Right Hand Side towards Namsai (Not on	CHANGLANG	RURAL	80	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
114	NH/SH) On Khonsa-Dadam Road, Within Dadam Village Limits (Not		NONAL	80	31	CIS		25	023	Ů		Diaw of Lots	Ů	
115	On Khonsa-Dadam Road, Within Dadam Village Limits (Not on NH/SH) On Khonsa-Lazu Road, Within Lazu Village Limits (Not on	TIRAP	RURAL	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
116	On Knonsa-Lazu Koad, Within Lazu Village Limits (Not on NH/SH) On Namsai-Diyun Road, Within 3 KM from Office of Piyong	TIRAP	RURAL	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
117	Circle Officer towards Diyun	NAMSAI	RURAL	80	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
118	WITHIN PALLING VILLAGE LIMITS NOT ON NH/SH On Hayuliang-Chaglagam Road, Between Metengliang to	UPPER SIANG	RURAL	64	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
119	Hayuliang (Not on NH/SH)	ANJAW	RURAL	70	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
120	WITHIN 3 KM FROM GOVERNMENT INSPECTION BUNGALOW, RIGA NOT ON NH/SH	SIANG	RURAL	64	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
121	WITHIN MIGGING VILLAGE LIMITS, NOT ON NH/SH	UPPER SIANG	RURAL	64	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
122	WITHIN HUNLI VILLAGE LIMITS, NOT ON NH/SH	LOWER DIBANG VALLEY	RURAL	94	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
123	WITHIN ANGU VILLAGE LIMITS, NOT ON NH/SH	WEST SIANG	RURAL	64	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
124	WITHIN NAMSING VILLAGE LIMITS NOT ON NH/SH	EAST SIANG	RURAL	64	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
125	WITHIN YOMCHA VILLAGE LIMITS NOT ON NH/SH	WEST SIANG	RURAL	64	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
126	WITHIN LIROMOBA VILLAGE LIMITS NOT ON NH/SH	WEST SIANG	RURAL	64	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
127	WITHIN KATAN VILLAGE LIMITS, NOT ON NH/SH BALEMU ON ORANG-KALAKTANG-SHERGAON-RUPA-	UPPER SIANG	RURAL	64	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
128	TENGA ROAD	WEST KAMENG	RURAL	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
129	WITHIN DARAK VILLAGE LIMITS, NOT ON NH/SH	WEST SIANG UPPER	RURAL	64	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
130	Nacho HQ Area, within 2 Kms from Nacho Police Station	SUBANSIRI KURUNG	RURAL	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
131	Sangram Town, within 2 KMs from Sangram Police Station KAKOI, FROM CIRCLE OFFICE KAKOI TO CATHOLIC CHURCH	KUMEY	RURAL	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
132	KAKOI	PAPUMPARE WEST KAMENG	RURAL	80 70	OPEN OPEN	DC DC	20	20	400	16 16	35 35	Draw of Lots Draw of Lots	5	4
134	Within 6 Kms from Tamen Kamle River Bridge, not on	KAMLE	RURAL	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	NH/SH Parsi Parlo HQ Area, Not on NH/SH	KURUNG	RURAL	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
136	WITHIN 2 KM FROM KAYING POST OFFICE ON AALO-	KUMEY	RURAL	64	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
137	KAYING-MECHUKA ROAD, NOT ON NH/SH On Deomali-Margherita Road, Within 2 km from Forest	TIRAP	RURAL	70	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
138	Rest House, Deomali towards Margherita SINCHUNG ON SINCHUNG- TENGA ROAD	WEST KAMENG	RURAL	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	Within Sarli block limits, not on NH/SH	KURUNG	RURAL	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	On Jagun-Miao Road , Within 2 KM from Intersection of Jagun-Miao Road and NH-215 (Kharsang Charali) on Left	KUMEY	RURAL	80	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	Hand Side towards Miao WITHIN 3 KMS FROM GUMTO RAILWAY STATION TINIALI													
	TOWARDS GUMTO POLICE CHECK GATE ON HARMUTTY- DOIMUKH ROAD WITHIN 2 KMS FROM ADC OFFICE BAMENG TOWARDS	PAPUMPARE	RURAL	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
142	SEPPA ON BAMENG TO SEPPA ROAD	EAST KAMENG	RURAL	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	RILOH VILLAGE NOT ON NH-13 Within 4 Kms from Sippi Village Playground, On Daporijo-	EAST KAMENG UPPER	RURAL	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
144	Taliha BRO Road	SUBANSIRI UPPER	RURAL	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	Paying aka Payeng Circle HQ Area, Not on NH/SH WITHIN 5 KMS FROM PACHA BRIDGE SEPPA TOWARDS	SUBANSIRI	RURAL	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
146	CHAYANG TAJO ON CHAYANG TAJO ROAD	EAST KAMENG	RURAL	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	KITPI, NOT ON NH-13 On Jagun-Miao Road, Within 2km to 5km from Office of	TAWANG	RURAL	70	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
148	ADC,Miao towards Kharsang WITHIN 2 KM FROM VKV BALIJAN TOWARDS BALIJAN	CHANGLANG	RURAL	70	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
149	WEEKLY MARKET JURIGAON ON BALIJAN - GHAHIGAON ROAD	PAPUMPARE	RURAL	180	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	WITHIN 2 KM FROM BAIGABH CHADIAIT TOWARDS		i l	I	l	CFS	25	25	625	0	0	Draw of Lots	0	2
150	WITHIN 2 KM FROM RAJGARH CHARIALI TOWARDS BALIJAN ON PMGSY ROAD IN THE STATE OF ARUNACHAL PRADESH WITHIN 2 KMS FROM VAN VIGYAN KENDRA, SONAJULI	PAPUMPARE	RURAL	120	ST	CF3	23	25		·			_	-

[#] Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of	Category	Application	Type of RO	Type of	Category	Application
	Site		fee in Rs.		Site		fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular ROs	CC	Open	10000	Rural ROs	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 01 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Company Name	State Name	Divisional Office	Divisional Office Address	Contact No.	For Districts
Indian Oil Corporation Limited	Arunachal Pradesh	Guwahati	Guwahati Divisional Office East Point Tower, 4th Floor Bamunimaidan, Guwahati Assam-781021	9435708957 / 8335860360	East Kameng, Pakke Kesang, Papumpare, Tawang & West Kameng
Indian Oil Corporation Limited	Arunachal Pradesh	Tinsukia	Tinsukia Divisional Office Sripuria Road, Tinsukia - 786 125, Assam	0374-2340228 /2338176	Anjaw, Changlang, Dibang Valley, East Siang, Kamle, Kra Daadi, Kurung Kumey, Lepa Rada, Lohit, Longding, Lower Dibang Valley, Lower Siang, Lower Subansiri, Namsai, Shi-Yomi, Siang, Tirap, Upper Siang, Upper Subansiri & West Siang